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West Bengal State University
B.A./B.Sc./B.Com. ( Honours, Major, General ) Examinations, 2015

PART - 11

PHILOSOPHY — GENERAL

Paper - 111
Duration : 3 Hours | [ Full Marks : 100
Candidates are required to give their answers in their own words as far as practicable.

The figures in the margin indicate full marks.
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Answer Question Nos.1 & 2 compulsorily and any two from the rest within

300 words each.
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1 Answer any five questions ( within two sentences each ) : 5x2=10
@ o AT e Tea i (el Tew 4 e wug fies 2 ):
a) Who is the author of 'Nyéya Sutra ?
@ ATER WS (T 2
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What do you mean by Tarka' ?
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Distinguish between Samavyapti and Asamavyapti.
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What is 'the difference between anumana and anumiti.
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"The hill is smoky, because the hill is fiery." State the sadhya, paksa and

hetu of this inference.
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What is Svarthanumana ?
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Give an example of Sesavat Anumana.
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What is the meaning of ‘Nayd' in Jaina philosophy ?
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What are meant by paksa and vipaksa ?
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Write short notes on any two within 100 words each :

T @ wioa o el soo *rar W ehre B g
a) : Paksadharmata Jnana according to Nyaya school.
FIIACS *FL(O] @ |
b) Jaina '‘Saptabhahgi naya’
& e A7’ |
¢ Distinction between Keuala-vy.atirekiand Anvaya-vyatireki anumiti.
R T S R T
d) Classification of hetu following the Nyaya philosophy.
Y W S (X9 RS |
Define Vyapti according to Nyaya philosophy. How do the Naiyayikas establish
Vydpti ? : 5+ 10
IR e Rgpe i e i | e e i afes) s@m 2

Critically explain Jaina Syadvada. 10+ 5
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Distinguish between Svarthanumiti and Pararthanumiti. In this connection,
explain Paricavayavi Nyaya with the help of a suitable example. 6+9
LS @ ofifuion T N FE71 98 9P BRI W QI THYE THRACE
HARTAT AT FEA |

Critically explain Paramarsa according to Nyaya school. 15
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Answer Question Nos.7 & 8 compulsorily and any two from the rest.
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7 Answer any five questions 5x2=10
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a)

b)

d)

Fill in the blanks :

'Men are mortal.' Give the logical form of this sentence.
AR TP | AR eRemere we

Convert the following proposition :

All flowers are not fragrant.
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'Only the members are voters.' Give the logical form of this‘ statement and
state which term is distributed. '
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Express the following sentence in Boolean notation and draw Venn
diagram :

'Everything is beautiful.'
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[SUB-B.A. (GEN) PHIG-6106 |




\

Ot

Bl

5 HIG(GEN)-03

e

SRR
f) What are the names of valid moods of syllogism in first figure ?
TR AW HEER el A 2

g) Show the forms of Mill's Method of Difference.
fieTa A afod AP (T |
h) Symbolize the following.
Pif q.
ASFITS T ¢
pafu g

i) Use truth-table to define the logical connective 'D'.
oY T (Afes e ‘o a3 e :

j) if Pis false, then determine the truth-value of (Pv ~ P)vr.
3fi pfiem 29, ORE (Pv ~ P)vr. -4F o e %)

8. Write short notes on any two : 2x5=10
@ @ Wb Tof e Bl oy ¢
a) Existential fallacy
ST |
b) Opposition of Proposition.
e R
c) Distribution of terms.
AW T |
d) Rules of obversion
fraéeEa FEaRA |
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+\ Test the validity of the following syllogism or syllogistic forms by means of Venn
diagram (any three) : | 3x5=15
cefbran R e A a1 el re e e (@ @R feaf) ¢

a) EAO -1
b) AAA - 2
c) Some scientists are philosophers, since some mathematicians are

philosophers and all mathematicians are scientists.

fg Rt wrifiee, IRy ey iffres wrfferes a1t sifirom =1 taefe |

d) No Republicans are Democrats; so some Democrats are wealthy men,

since some wealthy men are not Republicans.

ATTSFIAIR TSR 7 3 @A)k fFy sveredl 7 Afe, TR 7y «N IfE eemed 73|
Test the validity of the following with the help of truth table (any three).

3x5=15
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a) (AvB)>(A.B)

AB/ .AvVB
b QvR-~R

Q/.~(R~R)
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d) If West Bengal suffers a severe drought then if Punjab has its normal

rainfall then Hariyana's water supply will be greatly reduced. Punjab does
have its normal rainfall. So if Hariyana's water supply is greatly reduced

then West Bengal suffers a severe drought.
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: £ 1 What is contraposition ? Contrapose A and O propositions. Is contraposition of E
proposition valid ? Is simple conversion of A proposition possible ? 3 +4 +4 + 4
AIRET & IET ? A @98 O I TRIRRSS 41| E IEI AR o 134 2
A T/EHA 79 ARG fF 7 2

12. Explain and examine Mill's Joint method of agreement and difference. 10°+S
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